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QUESTION 1

What are two automated administrative tasks that can be done with configuration checkpoints? (Choose two.) 

A. delete 

B. restore 

C. archive 

D. backup 

E. compress 

Correct Answer: AD 

If you want to preserve delta checkpoints, you must archive checkpoints before they are automatically deleted. 

A delta checkpoint is created automatically by the product each time a configuration change is made. 

Incorrect Answers: 

C: The product does not have an automated function for archiving. 

References: https://www.ibm.com/support/knowledgecenter/SSEQTP_8.5.5/
com.ibm.websphere.base.doc/ae/twve_archive_checkpoint.html https://www.ibm.com/support/
knowledgecenter/en/SSAW57_8.5.5/com.ibm.websphere.nd.doc/ae/cwve_xdsochckpt.html 

 

QUESTION 2

What is the main difference between interim fixes and product fix packs as they relate to IBM WebSphere Application
Server? 

A. Interim fixes typically contain new features or functionality ahead of future product fix packs. 

B. Product fix packs are a combination of interim fixes and internal fixes to make patching easier. 

C. Product fix packs are generally reserved for new features or functionality whereas interim fixes are provided only to
fix known issues. 

D. Product fix packs bring WebSphere Application Server to a new product level whereas interim fixes provide
corrective service for specific known problems. 

Correct Answer: D 

Product fix packs contain bundled service to bring WebSphere Application Server up to a new product level. Interim
fixes provide corrective service for specific known problems. 

Reference: https://www.ibm.com/support/knowledgecenter/en/SS7K4U_8.5.5/
com.ibm.websphere.installation.zseries.doc/ae/tins_install_fixes_z.html 
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QUESTION 3

A system administrator has downloaded IBM WebSphere Application Server binaries and created a local IBM
Installation Manager repository. 

What can the system administrator do to ensure only this local Installation Manager repository is used during installation
of the product? 

A. Create a preference for the public repository. 

B. Use the Packaging Utility to create the repository. 

C. Make sure the metadata for the repository includes the value "local". 

D. Clear the Search service repositories during installation and update option. 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEQTP_9.0.0/
com.ibm.websphere.installation.base.doc/ae/cins_imoverview.html 

 

QUESTION 4

An administrator has made a configuration change to a server in network deployment topology. 

Which statement describes the synchronization process in this scenario? 

A. Configuration changes on a server are prohibited. 

B. Node agent synchronizes its files with the master repository. 

C. Configuration changes are maintained on the node\\'s master repository. 

D. Node agent synchronizes its files with the master repository when the deployment manager is restarted. 

Correct Answer: C 

 

QUESTION 5

Which of the following is a requirement when performing a silent install? 

A. A response file must be used. 

B. Artifacts must be saved for performing a roll back. 

C. The repositories must be defined before starting the install. 

D. The repositories must be downloaded before performing the install. 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_8.0.0/com.ibm.mq.sce.doc/ q120000_.htm 
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